MATH 1B Fall 2011 . S
Quiz 11 - ’ Narne:
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Roots ] General Solution |
r1 ¥ T2, real y(z) = 181" + e’ f
T1i =72 =r, real y(z) = c1e™ + coze™ }

71,72 complex, o £ if | y(x) = e**(c; cos(Bz) + ez 8in(Bx)
Consider the differential equation:
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1. (8 points) Use power series to find a complementary solution for this differential
equation.
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2. (8 points) Use the method of undetermined coeﬂiments to find a particular solution ;
to this differential equation. .
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3. (8 points) Use the method of variation of parameters to find the particular solution.
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